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1 . Which equation is equivalent to

5x — 2(7x + 1) = 14x?

(A) —9x—2= 14
T =9x + 1= 14x
C —9x+2=14x

D 12x—1=14x

x|

Yx -2 =YX

-qX-2 = Y%

& Which equation is equivalent to
"4(2—-5x)=6—-3(1-3x)? = §-2o¢= (-3 +ax

A

B
©

D

8x=5
8x=17
29x=5
29x=17

3 -k =~ I 49x
+76% F90%
X 9 . 20X

‘ N0 X

The total cost (c¢) in dollars of renting a sailboat
for n days is given by the equation

¢ = 120 + 60n.
If the total cost was @ for how many days

was the sailboat rented? \\C

R p Co,
~ 4V

C 6

D 8

(20 460N

2
n=Y

L} . Solve:

3(x+5)=2x+35

Step 1: 3x+15=2x+35
Step 2: +15=35
Step 3: S 5x=20
Step 4: x=4

Which is the first incorrect step in the solution

shown above?

A Stepl
B) Step2
C Step3
D Step4

5 . A 120-foot-long rope is cut into 3 pieces. The
first piece of rope is twice as long as the second
piece of rope. The third piece of rope is three
times as long as the second piece of rope.
What is the length of the longest piece of rope?

A 20feet Chortest piece y'\”' piece = X
B 40feet [ pitce= 27
g f’ Woce - g 4
@) 60 feet 3 {} - ;,,,KR_ + ( {,/7&"{';{"?5 i~
X = | TR
D 80 feet 2 ) 2x=2(20
x=90 | b
:/. 0
_ Whatis th@of the graph of
4x + 2y = 12?
Ylo)+2y =17
A -4
2y =12
B -2 =
’C\>6 \ - {) \
.~ W, |
D 12
’i Which inequality is shown on the graph below?
> !':\fﬁi"i"{

0\(‘{61 & ;

-6
7
v 7
\\}/1
1 D*
A y<z-x-—1
Y<3
B <lx—1
V=3
\
1 e orta chodsdl
C y>=—x-1 : fa ]
2 .‘Vr ¢ d anef( areoe .




P
) \é) = - (; )( —f ? .
Which point lies on the line defined by o > < M=~ é ,
3x + 6y = 2? | ]. The.equation of line Zis 6x + 5y = 3, and the s
P’ \)9 n , equation of line ¢ is 5x — 6y = 0. Which r‘
’ 'y RIS statement about the two lines is true? . " =EX
A (0 2) (1. 7 =P 3([) ‘ /0(,7/)) = 4 { 5 ms
’ ' = A Lines / and g have the same y-intercept.
E - d |
B Lines [ and q are parallel. The slope are
. . Di Da r()(,men’
B (0,6) C Lines [ and ¢ have the same x-intercept.

{ each other.

@ Lines ! and g are perpendicular. 1l

@ [1,_3 LLg

/. Which equation represents a line that is

D [1, - l] parallel to y —/——l +2?
3 Come — .
(‘(() ()/( = t' > A—:
() ( ///
{.7" at is the equation of the line that has a slope {'
m=Y of 4 and passes through the point (3, — 10)? ! q
9 y=dr_22 Y-yi= m(x-x1) { B y=—gx+2
B y=4x+22 Yo = Y (x-3) 2
Y+ = Yx —12 i 4
C y=4x—-43 A _~lo ; C y:_5.x+3
D y=4x+43 ’ U= Uy ~¢ .f
! 5
D =—x-+4
o’ 4
10 e data in the table show the cost of renting a
<ycle by the hour, including a deposit.
. ‘ !
. . e !/{/ - e
R/e\r\ltmg a Bicycle A~ 7 ) /fo” %M
Hours/ (h )/ Cost in dollar;s/ (c) =3
) N\ 15 - A 2x4
5 30
8 45 /7)1
(B 2#
If hours, h, were graphed on the horizontal axis '
and cost, ¢, were graphed on the vertical axis, 1
what would be the equation of a line that fits C —
the data? , ,, Sx
| b;@ 1n 4o r‘ﬁiﬁ" a on 4 I
dable 40 e option A,8,C,D x4
A c=5n D -
" F / ¢ - 5 i, +C
L
1 ls= 6(2)+s v
B Cc= gh + 5 /. 0




AH. (422 — 204 8)—(x2 +3x—2) =

2 /m ~
A 3x*+x+6 L{}{Z—QXth"/ _ Iy 42
B 3x2+x+10 L R
C 3x2-5x+6 x> -5 +10
(6> 3x2—-5x+10
| 5 What is the factored form of ‘
3(1 — 24ab + 48b2? —> Comnmn.on {\/l chor 1 %

A Ga-8ha-6b) 2(0™Bab+ich
Ub)(o-4b)

B (3a— 16b)a—3b) > (o
//’\
( c) 3(q — 4b)(a — 4b)
D 3(a - 8b)(a — 8b)

4 (», Which is a factor of x> —11x+24?

A x+3 (‘/ ~3)(x %)
@ x—3
C x+4
D x-4

2\

Which of the following shows 9¢2 +12¢ + 4
" factored completely?

@ (3r+2)°
B (3t +4)(3t+1)
C (9+4)(r+1)
D 92+12t+4

( +9Y 2:42)
LOUT L) 5TUT &)

| 8, If x?is added to x, the sum is 42. Which of the

following could be me of x?

O X4y

B -6
7» - - 7 =

C 14 2( +X *”,’ 3

D 42 (¥ +7 ) x-6)=0
K e Y=b

[ q Wilat quantity should be added to both sides of
this equation to complete the square?

x2—8x=5
A 4 a» I/ Lv: - x
B -4 ,0.\// / g \2 ![v 8\’
@) 16 01 ) . :,'17(5‘;/‘ =\ "2/
D —16 - g’. —~Lf |
A

L. What are the solutions for the quadratic
equation x? 4 6x=16?

A -2 -8 Y4Hex -6 =0

’i) —2.8 (x-2)(x +8)=0
(q, 2, -8 X=2 , x=-8

D 28

oy . Which is one of the solutions to the equation
2—x—-4= 0"
1 bt Vpiad
A Z_\/ﬁ o A:f/ '
()2 0w bo)-a)
B —%+«/§ '( ) B ‘

o\ 138 ] T
8 15 N

Z1-V3 s g

4

A5, Which statement best explains why there is no

real solution to the quadratic equatlon

2x2+x+7=0? 4 Z

A Thevalueof 12 —4¢2¢7 is positive. 1Z-y

B The value of 12 —4+247 isequal to 0. - |- CE = -5C

(CX The value of 12 —4 247 is negative.

D The value of 12 —4 2«7 isnot a perfect
square.

o TP e T o ~ P

k{i)n{ﬁ .

DUC!"N(WM 0 s U lac. . }

)
M D<o = no real ’fr‘)g'r/?-w"z‘)
H\ D=zo = 1 teal Solution )

K]ﬁ D7o -2 2 real Soluhons )
|

[




2

2 What is the solution set of the quadratic

" with initial velocity v feet per second travels a

20

- ~at Var- (s)“)

2(8)

" equation 8x% +2x+1=10?

1 1
Yo

B {—1+\/5,—1—\/5} - - 1\/‘,’*;','7
'('.

1+ —1-47]

{s 8 8 } : :2%%%?8,

@ no real solution

An object that is projected straight downward

distance s = vt + 162, where ¢t = time in
seconds. If Ramoén is standing on a balcony
_84 feet above the ground and throws a penny

stralght down with an initial velocity of 10 feet

per second, in how many seconds will it reach

Alp. Whatis ___4xy + 4_y reduced to lowest
terms?  3xy—6y>
;) f" - rar,"
x—2y ..(_Lﬂj;*:f__ \
A —3 3y (x~29) |
AL X—2y
B —— |
( ) > 3y |
o x+2y
C TR
3
x+2y
D 3y
2 |
&7, Simplify £x4+22$+9 to lowest terms. |
x —
a L) GeDlent) | 3w
2x—1 (7;&“)(1/4) 2x |
AN 3(x+3
=
/o 2x—1
3(2x+3)
C G0
S(x + 3) “
2x+1 |

? O |
the ground? V= inikel \/o\m“, Y\] - 10 ',qj /f{’C _
( 2 seconds = distance. - XL{ {%
3 seconds QY = 0. & +164
C 6seconds 84 -4y
< 2 2
D 8 seconds 0 = -84 ot “”(
D ‘n 4h = . 6(2 ) .‘-ffifsi =0
Plvg \n the option =2 = B rerle
' 6Y +20 —8Y =0 v
h = W+
A5, The height of a triangle is 4 inches greater = h-yt+2b 8.
than twice 1ts  base. The area of the triangleis '
168 square inches. What is the base of the v 2‘ AT
triangle? — L7 A =168 In
A T7in. A\ by )
"‘ z .;7 ¥ l,n
B 8in o i Lol )
(e 12 63=4-b.(u42b)
( in.
D) g = 4 (Ubt 2b")
D 14in. k$= 2btb -
_ o 3 -6 -
bt 2b-168=0

bz > 2%42(2)68=0
YU + 24 -168 = o

F'U/} 0 +he i),

29

A pharmacist mixed some 10%-saline solution
with some 15%-saline solution to obtain |
100 mL of a 12%-saline solution. How much of
the 10%-saline solution did the pharmacist use

in the mixture? | fo=>x | “;OL -y wl {
- > '

(A) 60mL —

0 7 3 . I
B 45mL 2 /a =100 ml = X +Y ‘:
C 40mL 10 ¥ +15v=12.(100)] (07%74- W00
D 25mL Xty = 100 =15 4ox ‘) (rliojl_{ |
I ~C\ = r/";f)
)(':-60 mi & ":T —::

Andy’s average driving speed for a 4-hour trip
' was 45 miles per hour. During the first 3 hours
he drove 40 miles per hour. What was his

average speed for the last hour of his trlp"
Jotal dictanc

“fotal lw/r {
L{f)-{ “;‘)

A 50 miles per hour Ave =

B
C 65 miles per hour {

60 miles per hour |

D 70 miles per hour |




30 “Two lines in a plane always intersect in exactly
one point.”

Which of the following best describes a

***** ~ v s0 C
7 an (’\(Gmrll’ ~"ﬂr»' f o VES

A Loplanar hnes h
K\B) parallel lines

C perpendicular lines

D intersecting lines

CSG00320

at ot h,-,»fj \$ wrong.

At Which figure can serve as a counterexample to
the conjecture below?

If one pair of opposite sides of a
quadrilateral is parallel, then the Both paics

quadrilateral is a( arallelogram) " of Ww!‘“

are Yara“(‘l
A rectangle ’A‘ — 6
B rhombus \,\
C square '
vl AY
[ D) trapezoid ‘
\_/ Al el Bu’t /\’BC[)'{' Pam”@lagq
CSG10194

Q Given: TRAP is an isosceles trapezoid with
diagonals RP and TATthch of the following

must be true? §< &
i ﬁ/ |

A RPLTA
B RP|TA |
(C) RP=TA (RF i Gngrveat 40“{/\)
D RP bisects TA

CSG00260

232 Which triangles must be similar?

A two obtuse triangles

B two scalene triangles with congruent bases
C twori ght triangles

[ D) two isosceles triangles with congruent

\\
~— vertex angles
CSG00578
)

7
A 2

34’ A conditional statement is shown below.

If a quadrilateral has perpendicular
diagonals, then it is a@ all sides aft

Which of the following is a counterexample to
the statement above?

(A ). C
\/7 Dmgonalg
1 are 1,

but not all
Gdes ore &2

It e not even

B D [ ol cliagonal,
/ s not o

- ),
1 Covnterexampie

35 Which of the following facts would be sufficient
to prove that triangles ABC and DBE are

similar?

QWZ& }’wx( ‘ S, Hun LA E

r We can gee Hmi A ABC S
.r“hm/ Z _Co /Cmusk be &
by Anh s PBL 2 DBE

N

C

A CE and BE are con gruent.

B ZACE is a right angle. /
s ) AC and DE are parallel. '

b/ Z A and Z B are congruent.




B(p. Parallelogram ABCD is shown below.

A B
1
D c
Which pair of triangles can be established to
be congruent to prove that ZDAB >~ /BCD ?
A  AADC and ABCD
B AAED and ABEC
\C ) ADAB and ABCD
D ADEC and ABEA
37 1f AABC and AXYZ are two triangles such
that AB _BC . .
a XY 12 which of the following would
be ~fficient to prove the triangles are similar?
A ZAx=/X 5
(B) /By VAR YA
C ZCz/z 6o "0
D ZX=/Y W LB2LY) by CAS,) ARBL ZAXY2

38 Which of the following statements must be true
if AGHI ~AJKL?

H K

J L

A The two triangles must be scalene.

The two triangles must have exactly one acute
angle.

C At least one of the sides of the two triangles
must be parallel.

N

D ) The corresponding sides of the two triangles
" must be proportional.

/ /// A
//ﬁ{

37 In parallelogram FGHI, diagonals IG and FH
are drawn and intersect at point /., Which of

= & the following statements must be true?

<M .
' ' AFGI must be an obtuse triangle.

B  AHIG must be an acute triangle.
C AFMG must be congruent to AHMG.
(/ D AGMH must be congruent to AIMF.

CSGONSSY

4. Which of the following best describes the
triangles shown below?

30°

60°

1 O

both similar and congruent
B  similar but not congruent
C congruent but not similar

D neither similar nor congruent

4 |. Given: AB and CD intersect at point E;
L1=/2

A

7(/\)@ know L3 = [y .
7 1 c

E

B

Which theorem or postulate can be used to
prove AAED ~ABEC?

o

B SSS
C ASA
D SAS




L/'Z- In the figure below, A_C;’D_F and ZA >~ /D,

&= 6E Huen
)]
by , AABC =

D E

Which additional information would be enough
to prove that AABC >~ ADEF?

(A" AB=DE
B AB~BC
C - BC~EF
D BCx~DE

L}a In the accompanying diagram, parallel lines /
and m are cut by transversal .

. .
‘N\ Lo
‘ \ L4La =180

Which statement about angles 1 and 2 must

A

\ 4

A

* ADEF

|

l

\
i

What values of @ and b make quadrilateral
" MNOP a parallelogram opposive. ode e =

N 21 o
3a-2b 13
U 4a+b P
- o o2 | Yz=8as2%
A a=lLb= 2l =He
a l,b 5 12 = 20-2 V)Q/7!QJ
Z"Jiﬂ'“
|B) a=5b=1 IR
= e
c g=11,.34 3 = 3(s)~2}
777 3= 1g-2b
—15 5 _
7' al
2= &8
D azﬁ,bzg =7
b=
CSG10163

l fiext to adjacent angles are congruent, which statement { ;’,m:.\ .
must be true? B

opposite sieles ore Il the sices
4o . Quadrilateral ABCD lsaparallelogram If need notbe

sannlL

S w T T E T T T

A Quadrilateral ABCD is a square.
B Quadrilateral ABCD is a rhombus.
IC) Quadrilateral ABCD is a rectangle.

D  Quadrilateral ABCD is an isosceles
trapezoid.

LA SLB,
«l"ﬂzy must be both

90° each.
The ABCD 1S

"]

47 For the quadrilateral shown below, what is

be true? mla+mZc?
A Ax=22 e =30 c
B /listhe complement of é% surn = 180° co
C > /1is the supplement nt of /2. B (50
D /land Z2are right angles. 390 D
ao
, . LA+ LBHLLCHLD = 360°
44, 1fa cylindrical barrel measures 22 inches in LA+ A5 Lo+ 32% 3
diameter, how many inches will it roll in A 53 . 5 » "3 5
8 revolutions along a smooth surface? [AFLC 4 } H
- v $ v = §timues S £ ‘
A Tmi C 180° LAtLC = 933
1687 in.
. B i T ( D> 233°
. C) 176m in.
il [ rev = 1 (l(‘[ul‘-‘r{(’ifff»‘ = T.d = 22T CsGI0162
D 228min. = B -
Distanee = § (221) = @6 M.




4% If ABCD is a parallelogram, what is the length
of segment BD?

c

A
(A) 10
B 11
c 1
D 14

4Q. A right circular cone has radius 5 inches and
~ height 8 inches.

asfed= L*

87 ="
L= Vg
= el

1"

cT\gq

What is the lateral area of the cone? (Lateral
area of cone = 7rrl, where [ = slant height)

A 407 sqin.
B 4457 sqin.
C 57r\/3>—93q in.

@ 5m/89 sq in.

50 A sewing club is making a quilt consisting of 25
squares with each side of the square measuring
30 centimeters. If the quilt has five rows and five
columns, what is the perimeter of the quilt?

A 150cm “’ " jT 7 30CmM
B 300cm , r f /
600cm [ P=ols
- ’! w U
D 900cm : 600

CSGa011]

T(5)(V8q)

51, The four sides of this figure will be folded up
- and taped to make an open box.

! ' \5 Area of base

! = Orta ’3 " Q ”;"7"5”'(:.’
TXS =2%
What will be the volume of the box?
;‘AvSOcm V AW"‘?("’F“,‘”"
? B 75cm? 2> -2
E C 100 cm3 =SS0 ¢m -
D 125cm?
52. Figure ABCD is a kite.
N ABC 2 A APC ‘
Y
A=3.bh=-2%.21-% =04
B S Area ABCD = Arta DABC#2
=8Ye Q=108
17 cm ’ )
i0em
8cm
MHA p
A 6cm 15¢cm
8cm
10em 17cm
D

What is the area of figure ABCD, in square

centimeters?
A 120
154

() 168
336

CSG20157




53, A classroom globe has a diameter of 18 inches.

Which of the following is the approximate

S{p. The rectangle shown below nas iengin
20 meters and width 10 meters.

—————— 20 —

————]

4m 4m
4m "v' .\ 4m T
10
4m| ™ B it
., o
4 m 4m

If four triangles are removed from the
rectangle as shown, what will be the area of the

remaining figure?  Aeq of Y Acw

Y. 2. b.h
. %

Y. 3-4.4

w\i‘w

A
= 32.M

pcea of [ = b-h= 20-t0= 200m°

Qe.mmmng A= 200-32 = |

CSGOL012

t3m b

surface area, in square inches, of the globe? A 136m?
Surface Area = 47r? _ .
( ) d=18 = r=9 B 144m’
z R

- Umr 2
A 1130 Surface arta- L‘;r1 s ¢/ 168m
= U :?_IM.I[;J “ . P
T 1(3-H8)) D 184m’

= |ol7.38

C 2543

9 1017.4

'] What is the area, in square inches (in.), of the

"triangle below?

10 in.

or use

253
50
5043

o aw

N

55 What is the area, in square units, of the
trapezoid shown below?

:
{ |
(0) 5) {‘//_I—/k—d—’ S (8! 5) | . ]{’ Nans '“w [y('s( i
}I Sm h 5m 7 (‘%{» Hhe AS are = I
|
h | ™
A 25 Ned o find h 'Y, g7 O +b=c
1 > X — ’,\F ;/,/; 32, + hl _c 2
. N f, ¢ - T ;fﬁ 1 'v;/jl‘ﬂ )} o .
A 375 Area of trapezoid < (om of pacelle sides)e- € 48 Aea = (som of 1l sides) - - W= a5-9
= - ~ . y
B 425 = (1248) + 2 D 7 = (l2t6). £ hot ;
f . F lo ¢ ) . ’g . 2 !
€ /50 20 50
= 3¢ :
D 100 |

Pwﬁhae)or{a nj
thm 4o «ﬂ ndlh.

7. IRSTWisa rhombus, what is the area{of
Ly has _L diagonals.

| AWXT?

58, What is the area, in square meters (m), of the

trapezoid shown below?
3 6M

by

Teosceles Hrapezoie - |




‘ 5@ The figure below is a square with four
congruent parallelograms inside.

What is the area, in square units, of the shaded

portion? Area o‘c pam“ﬂ(ngmm =b.h-
A 60 = 5.3z=|5
Thzr@ ore. Y 0{3 FUTT R Co IS.Y=60

(1;) 84
C 114 Aren 0( Chaded portion = (7_2'- 60
= Yy -0

D 129 3

(). Lea made two candles in the shape of right
rectangular prisms. The first candle is 15 cm
high, 8 cm long, and 8 cm wide. The second
candle is 5 cm higher but has the same length
and width. How much additional wax was
needed to make the taller candle?

. - N K3
~ ) \/1: l' (,u.h = %.8.15 = 96o.un
3 2
@ 320 cm Vg = ( Ww. h = 8.8.920=1280 cm”

3
B 640cm Additonal way = V2~V
C 960 cm? = 1280 960
D 1280 cm? 320 cm”

(ol The perimeters of two Squares are in a ratio of

4 to 9. What is the ratio between the areas of
the two squares?

i A 9 )
F\(J_\W - 2 acees

A 2103 ol n{, |
¢ oalways Hw cguare of— i

B 4109 | S e square o
fHﬁ ¢ vatio (){‘_ 4—'(\,({ }»W imnetef . I

C 16t027 ' |

2 2

. s 4p C
(D) 1608 1

57 A right triangle’s hypotenuse has length 5. If
" one leg has length 2, what is the length of the
other leg?

6 to 81

A 3 2 X

B &

1N
?7

Cc 29 ot b=’

D 7 224 xt. 5
)(Z = Q?’ Q‘é = :3‘
X = Vi

. A new pipeline is being constructed to re-route
its oil flow around the exterior of a national
wildlife preserve. The plan showing the old
pipeline and the new route is shown below.

104 +3600 =C*
7
Hea4 =c

About how many extra miles will the oil flow Ce \/%9 !
once the new route is established? C: 063

old ?'lgeiﬂu{ = 68 miles .

B 68 New route = ¢o +32 = Q2 miles
Cc 9 The d?f{e,ra,:rrf = Q72-68 = 94 miles
D 160

/04 Marsha is using a straightedge and compass to
" do the construction shown below.

Which best describes the construction Marsha
is doing?
{/ AA,:) a line through P parallel to line /
B a line through P intersecting line /
C aline through P congruent to line /

D  aline through P perpendicular to line /




=

. )
- In the figure below, if sinx = —
™. gu 13

cos x and tan x?

12 5

cos x=—and tan x = —

13 12

B cosx:Eandtanxz—
13

C cosx:Eandtanx:i

- 12 12

D cos,\czliandtanx=E
12 5

3. In the figure below, sinA = 0.7. = %

What is the length of AC?

A 147
B 217
oF
D 32 oncloteS

A
@7 A square is circumscribed about a circle.
is the ratio of the area of the circle to ‘the

of the square?

, what are
anx = lmﬁ/
. hye
S =b
altbi =’
157 = 1%
o =17
ad) 12
X hyp T @
_or . =

What
area

N | —

A N\
7 r

G = A(

|
(.,
)

©w fefo ot wo
A ;‘1{\ C‘j : //f L{f/z

&
NE

T

i

(8. Approximately how many feet tall is the
streetlight?

40°
20 ft
sin 40° =~ 0.64
cos40°~0.77
tan40° ~ 0.84
A 128 an o’ = _ ‘ii’
B 154 o4y = b
C) 1638 o
' h= 0-84(z0)
D 238 h-16.$
bC/ Right triangle ABC is pictured below.
B ..
> 58
10.6
03
32°
8.2 =

Which equation gives the correct value for BC?

A

sin32° =3¢
cos 32°=£
10.6

o_ 8.2 s ?r $.2

tan 58 =—C tan 53" M;'L = 2=
sin 58°=£
10.6




/}

D . The diagram shows an 8-foot ladder leaning
against a wall. The ladder makes a 53° angle
with the wall. Which is closest to the distance
up the wall the ladder reaches?

53°
8 ft
7R
sin 53°=0.80
cos 53°=0.60
tan 53°=1.33 0 MJ'
(s 5% - NH’
0-60 g'\'l
A 32ft )
@ 4.8t X = usft
C 64ft
D 9.6ft

' Tn the accompanying diagram, m/ZA = 32° and

¢

x inAABC?

|~ 9," @E?g"’
tan 32 = AL
A x=10sin 320 0.0
P 1 289 ¥
\{ (Y -
|
= ' ° )]
B ‘ x=10cos 32 ¥ = lo +an 3

@ x=10tan 32°

10
cos32°

AC =10. Which equation could be used to find -

TR 'IYiahgle JKL is shown below.
K

J

9 o o
z L.

hye
singi° = JE

sinay

Which equation should be used to find the
length of JK?

G\) sin 24° = L/
_ 28
28

B sin24°=-"—
sin X

C cos24°= ‘—]E
28

D cos24°= 28
JK

75_ What is the approximate height, in feet, of the
| “tree in the figure below?

50°

sin50° =~ 0.766
c0s50° ~ 0.643
tan50°~1.192

A 643
@ 76.6

C 1192

D 1305




S S——--— 1

2 ol ; — |
’}U, RB 18@0 a circle, whose center is A, at | Tlp. Inthe circle below, AB and CD are chords |

point B. BD is a diameter. intersecting at E.

Note:
AE@ BE ;CE"DE—

If AE =5, BE =12, and CE = 6, what is the

£ e o .” length of DE? Or , use \“’""?"""""” :
A =
What is mZ CBR? o A 7 /) -
e EE
A 50° B 9 .
e B = A
(B) 65° | @ 10 . )
c 90° ‘ D 13 & = 500
z P 2 —
D 130° | & ¥
1 : X= 10
75, In the figure below, AB is@to circle O at
'nt A, secant BD intersects circle O at points ] ) —
C and D, mZE’ =70°, and m@ =110°, NOT an operational test form. Test scores cannot be projected
? yright © 2008 California Department of Education.
/ ff(_\ ‘J_\\
A
< , B/5 ¢ Note: \
N / ":ﬁ‘x\ L . JE
| (% N
| 4 (L ¥7 7
i In the circle shown below, the measure of
|

</ /x= E_:_i. % PR =140° and the measure of £ RPQ = 50°.

) o -
Ibp — AC-CD
260° .. 9p°~ll0°

AD -

What is mZABC?
180°
A 20°
° / A A{\ 18 A° Wi ° Q

B 40 [B= HD=AC ‘%‘:L':ﬁ” . ’“Io 2T P Ina®), i

((‘\ 55° - h What is the measure of PQ? o14 / - 360" ’

v 70° A 50° Co wo” 4t Dovf: X < 'iér)’) !
B 60° Ql{;j j

~Ql(o - .) ‘(D ’ 3

C 70
(D} 120° X= 190 ,
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3. What is the complete solution to the equation

|3—6x|=15? Zx=-ls of -Lr=ls
=5 T S

A x=2;x=3 —(y = — 18 oy e 12
3 ¢ ¢ Te %

P
/A

7{“} For a wedding, Shereda bought several dozen
roses and several dozen carnations. The roses

cost $15 per dozen, and the carnations cost $8

per dozen. Shereda bought a total of 17 dozen -,
flowers and paid a total of $192. How many
roses did she buy? . »_u dozen O\’ (002 <

A 6dozen C= #dozen

B 7 dozen r+c= 17 c’( —:48”(‘4;

6) 8 dozen |ISr+8C= 1972 ( Eiij_/ﬂ
D 9 dozen s %

’1
|
~ What is the solution to the system of equatlons
shown below?

2x—y+3z=8 . .- (()
x—6y—z=0 --. (2) D*("})
—6x+3y—9z=24..(3)

0bcerve (}) q,,(g_)!

Tt seerns (ke (3)1s obtained
bj muttplying (1) by -3,
exapt 4ot instead «i\{ ay,
we Shodd get —24,

(C\ no solution  Thercfore
intongigtent

A (0,4,4)
B[4
3

Y(;.
Hw SY<- bern IS

D infinitely many solutions

(—Zx2 +6x+ 1)
A 6x*-1

B —10x2-1

C 6x2+12x—1

@ —10x2 +12x—1

(4x —3x+1)

"/)/ {[17'4l—'?)

\%__/
—0xX 4 12%x—1

B 2x3+14x%2—14x+12—

82. 2x+7)2x4+21x3+35x —-37x+46
‘ % *”(X X+6
O” D 21% 35K 21x446
A B+7x2 —7x+6—m A+ 1’ i
(lt}@zcx‘? ;
\, z f
4 L —

2x+7

4
c i —7x* 4+ 7x— 6+-2'—+—7

/‘ 3 2 _
( Iﬂ BTt —Tx+6+

(«‘m,/ n/

2x+7
N N — ~ " 7 L
{Note = a®+b”: ((aw(n abtb®) 5
0a a3»193: ab) (o> tabtb*) /
83 N\l = |
(20)% +¢2 = (20t¢)(4a*~20c4c*)
% A (a+¢)2a+ c)(2a+ c)
124 B (2a = ¢)(4a? + 2ac + ¢?)

SL/ Which polynomial represents

x+3 6
| - =
55, x+5 x24+3x-—10
x2+x A4s x+5)(x-2)
pE=s
/) x*+3x-10 (‘/43%,{*2_} . . o
7x—9 (x1s)(x~2) (x+s)(x-2)
B _—
¥ +3x—10  xPox-aed *C
T (xts)y-2)
e x% +x+12 ]
x? +3x—-10 }Wj.lfi,n
Y%+ 3x—-lo
2
+ 1
D X X+ |

C (2a — c)(4a* + dac + ¢?)
(’"D N Qa + ¢)(@da® — 2ac + ¢?)

(3x2+x 4)(2x 5)2 = Distvi l>u'¥!’ :

3 2
. 6X -15x 42x +20 :—/OY —13X 13X {20

6x3 —13x% —13x—20 |

A
@ 6x3 —13x2 —13x+20 :
C |

6x3 +13x2+3x—20
D 6x3+13x2 +3x+20

*5x-8x

x24+3x—10 ;




-“‘yi’;f r*'{{ﬂfltmf [V {
/
VA
‘%p. The total area of a rectangle is 4x* —9 y2.
Which factors could represent the length times
width?

/ ) (252 - 3y)( (252 +3y) = ux =g 6%k ~ Y

(Zx +3y)(2x2+3y) = L'X'l»——qgﬂ

C (2x 3y)(2x— )
D

233,-2
&7. Which is a simplified form of _lec_ ?
(a1p%c)?

— 3d°

B = b_ﬂA(: B
C 3 9
- B = 222
3 be
i ab3c’

What is ——— ?
2 27y% " 1575
3
A 32y
81x
32 |
B sg7 25
x’zf"/' ;:,
3 ~J
C 25y
18x
25
@> 18xy’
2
—7 A : -
59, Ifz_\/—l what is the value of i*?
A NTEEE R
_ {'=4 4
. o )
= () (1)

B
KC\) 1
v—'/
D -1

|

C oricf
o4 SquOIC .

5?(), If i =+/—1, which point shows the location of
5 — 2i on the plane?

(5,-2) Imaginary

A
8
7
8
Al te
4
M B
2
! C
EEREERE 210l 123458758 > |Real
! D| |
Ly ]
"3 P,
] )
L; i P11~/
6
"7
I'B
-9
LY
A pointA
B pointB
C pointC
S
(D\ point D
‘1
9 A=l

A} I i=—1,thendi(6)) = 2Ui = 2U[(-1)

A 48
B 24
D -—48
“?: . What is an equivalent form of n
K
A 3—i
4 6 1

\ﬁ
)
W
W
L

IN N
wm| | B
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. . x :
%, What is the product of the complex numbers 7;7 The graph of {'2-] —%] =1 is a hyperbola.
(3+1i) and (3—i)? \ :
A 8 ( q @ ) {‘7"'; -] Which set of equations represen%éhe
2 s Like ,ﬁ 0““9 aS r)?& » 37
(9 10 q- 31 -1 z “(/ asymptotes of the hyperbola’s graph?
C 9-—j 3\\'«“««“3&.”_‘" -\ \/ii un (l('; Y x
. q" ("') =l y=—2yx j g
D 10-6 T+ =10 y=RHY=") Vrunder X
7 Vs 2 ¥
= =X
‘ B y=gx,y=—§-x J
%l What are the solutions to the equation ) )
2+ 2x+2=0? _,L'f\/ “yac t—ZiHZL'W(I)(,ZJ C y:}_x’y=__x
20 ' 201 2 2
A x=0x=-2
= 2 Veg 1 1
B x=0;x=—2i —z D y=gxy=-—3x
@ x=—l4+ix=—1—i - "____Zi(zv’_l{ (ot Comrete T square R —
= ote ¢ Complese UL Sqguar ¢ adl é 'i/,’fiff“ J
D x=-1+22;x=-1-22 - _, 4, L ) ‘ :
z &, 4x? — 57 — 16x — Wy, s]f =9 |
= 2(-18 ) What is the standard form of the equatlon of
a5 ] 7 the conic given above?  Ux - l6x-5Y*~30Y = 9
‘ . What are the solutions to the equatlon Y ux+ 7 )-5(y? +6yt7)= “f
=3 a/{(x 1) () ™ A G -3
- | 1 4 ufeuent) gl ey ) =0
< / ! 1 | g X f@ _TI! ’ —\g"
Vo35 3 s L 0+3? (- 2>2
(&) s=3+5=3-F [:4”\/"—“0 ()% (e Alyt= —do
- b?-lac @f‘}*" f'»/éq 20
B x=3+£;x= —ﬁ / ?F N e R IN C (y_3)2 _(x+2)2 =1 [,.223* W2 i
2 2 (v VIO 6 o W Gen®
BN Al e m -
2(1) i
3 \/1_3 3 13 R 42 _ a2
C x—5+—2-,x—5———2— 2 1 ;’/f,'(‘r . :ﬁ T};» D (x114) _,_(y 43) =1 |

\Qt # 1 ?{ Ay
sty 1 | o 9 . What is the solution to the equation 5" =17?
e, There are ivggggrn_bggg with the following ‘ Y oot X ' Noa 13
properties. A x=2 ( 92 (
1) The second number is 3 more than the }’; .
first number. U = 24X _Ti: E)?‘;
o > ) 2
2) The product of the two numbers is 9 more | < bstitutp. B x=log,2 J -
_than their sum, XY= q . (y +yu) v = %Qgii
086 <
Which of the following represents poss1ble _ Y
values of these two numbers? C x=log17 +log;y 5
A —-6-3 v\ = Ly (2av)
X(54x) = q4x+ (34x) N logyy17
B) —4,—1 2x1 vt = gy 12 (D) X=—
1 =% ’ -»f7'y 172 s 1oglo5
C -14 = = s
Xtx-12 =0
D -36 ( +4){x—-3)=0




' D
I8G - 1 logy x =— 2, what is the value of x?
: \_,/
A x=- L3 ID =X
10 X = ) T
TAN \o.’L \ 00
B x= rs
10
C =—
(/ *= 100
D =100
b 1_o
+ Which equation is equivalent to log3 =x?
1’ X _ L ‘1
A 6 =X g - q

"Cj 3x=l ]
9 A

D 3=x

/ 02( What are the@f the graph of

Vy =12x - 5x = 27

O‘lYYfCX -2

& Tmg L 0= (-2 JUx+) |
6 2. 20 WX =0
1 ¥ 2 %/ 4 "?
B —land — 7y o 7 Yy =+
Lo e VI |
S % b '
~~_ 2 : X=-y
( C )— and _L L
\__/ 3
D —Z and —1-
3

J(’li’ l)?l:;/g N‘( 1

[03. Given thé equation y = x" where@ Fhe base 1 ()
and\z <0) which statement is valid for real
values of y? Ex : L{‘l - @
- - c
(D y>0
B y=0
C y<o0
D y»<o0

N
Y will always be ¢+)

101}, A certain radioactive element decays over time
t
according to the equation y = A[%) 30 i

where A = the number of grams present

initially and ¢ = time in years. If{l@grams

were present initially, how many grams will
- 0\]

- f)%“ X y30°
remain a ter\?%l years. L E (OOO( )

A 500 grams - fDDD(;")
B': 250 grams = 1000 ({g)
(C 125 grams — _looo _ 125

D 62.5 grams

|DF. Bacteria in a culture are growing exponentially
with time, as shown in the table below.

Bacteria Growth

Day . Bacteria
(‘ 0 100 - Fo‘,ul(ﬁm(} 'S (‘ou “\J
2 200 V ;g‘ -
\g 2 400 b=2

Which of the following equations expresses the
number of bacteria, y, present at any time, ¢?

t
A y_100+2 i(j" F (‘ ) hh= invhal F*m;)nhcm
O 100 |9()(f1) b— +he LM}Z
C y=2
D y:(ZOO)-(Z)t Note: If +he populationy 1s '{'riﬁhﬂj,
b=2" 9 So on.
| [ O, If the equatio@s graphed, which of the
‘ following values of x would produce a point
| closest to the x-axis? K 3
(A) = o the mallest-%.
’ > X
B 3 |
4 The Smaller He x value,
5 Jhe closest it gets to the x-oxis.
C =
3
p ¢
3




EN
i DS
[(7. What is the value of log;27 k

N
. - Ko
Cc 6 X =3

D 9

[0, 1f log 2 ~0.301 and log 3 =~ 0.477, what is the
approximate value of log 72?

A 0051 log %2 = l0g(q9.8)
B 0.778 g (7.2
C 0861 =
@) 1.857 > log3* + lg2’
— ] Eacz + 32 log2
1(0 U1) + 3(0-300)
0454  + 0.903 = 185 F

109, Itxisa real number, for what values of x is the

9
=x—3 true?
>There 1 no exclvded valve

in the domain .
Thét’éfm{t all %e [

equation i
@ all values ofjc
B some values of x
C  no values of x

D  impossible to determine

[]0. On a recent test, Jeremy wrote the equation

x2—16
> =x+4. Which of the following
=0

state’ments is correct about the equation he
~» X-¥¢o
wrote? ] +y
( :‘{\
A The equation is always true.

( B> The equation is always true, except
— when x=4.

C  The equation is never true.

D  The equation is sometimes true when x = 4.

[t

~Abelardo wants to create several different
7-character screen names. He wants to use
arrangements of the first 3 letters of his first
name (abe), followed by arrangements of
4 digits in 1984, the year of his birth. How
many different screen names can he create in
this way?

(%) 124' @ED--UL
C 288 mBE 14,84
D 576 624 =14y

{12, Teresa and Julia are among 10 students who

@:  BE-

have applied for a trip to Washington, D.C.
Two students from the group will be selected
at random for the trip. What is the probability
that Teresa and Julia will be the 2 students
selected? / q candidodes

B 2 We_have ( " Assume. eithur
45 9 candidaies T_rwu" or r]u[; \
Teresa o, ..;”!W |§ Se(ﬂf"rf!;
1 Ywe oaly havp
Cc - out DT 10 stvdantt
5
D 2
5

13,

What is the sum of the infinite geometric series
1 1 1 1 42
- —+—++. = r=7
274 4 T8 16 F= %

| more

v V ! ‘/ Y -‘« .z
@ 1 4.'1 o 43 ... - V" =Y
B 15

lrl <1 v

c 2 g‘ + Y2 Y2
D 25 T TR T T

=

S| condidate opt a(‘ 9 Studends
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a

{1 Whichisthegraphofy:@(x—l)z+1? — V= (h )

y Yy
i 1 K|
(Y .
\ | 5
[\ 4
3 3
2 2
1 1
*—7-6-5-:-3-2--%) 3 456 7F . 43 2 1 0ff Y3 4567
-2
o \\
. M
-5 5
-6 6
. 7
747 A
A ©
y
4 t nt
7 7
6 V[l
° Ty
4 \ ,1[
A :V
2
1 \//;
755 4 39- 23 4567 ¢ I 320 456 7
_1\ A
-2 2
I _3\ -3
/ . \\ -
-5 -5
-6 -6
-7 -7
y v
B D
/ ig’f Which expression represents f (g(x)) __(i) — ([J‘ )
. _ /A, I . 2
1ff(x)=x2—landg(x)—x+3? ”*2 < ) H? ' S (X(i'ﬁ)'

A xX3+43x2—x-3

@ x2+6x+8

C x*24+x+2
D x2+38

(x+3)(x+3)




[tle. A box contains 7 large red marbles, 5 large
yellow marbles, 3 small red marbles, and
S small yellow marbles. If a marble is drawn
at random, what is the probability that it is
yellow, given that it is one of the large marbles?

El
Ok

s

TR 51 2r S

Y
i}

-

7 ~——  —

B —
K s large yellow
5 W

C 3 r
1 Tz

D 3 Becavse it! ¢ given Hoak it S

one af Fhe !«0“;’8‘3 macbles, we

ignore. +he existance of Ahe small
marbles

!1I"7. A small-business owner must hire seasonal
workers as the need arises. The following list
shows the number of employees hired monthly
for a 5-month period.

4,13,5,6,9 —> N=% .

X\ X2 X3 )y XS 3
If the mean of these data is approximatel '
what is the population standard deviation for
these data? (Round the answer to the nearest

tenth.)
@ 33
B 74

D= \ho.8
C 108

X 3.
D 135

]2 A math teacher is randomly distributing

15 rulers with centimeter labels and 10 rulers

without centimeter labels. What is the

probability that the first ruler she hands out

will have centimeter labels and the second ruler

will not have labels? - 95 (oV B
A L3 — w w&"
24 15 / cM lo /m;f/ o

NG
\

2 y £ W P oA %\

C g F(U"!/(‘f\ﬂ> ¢, ng [‘ﬁ!/‘i )
23 I5 by
D = s M.
£ 255 24
32 2 _
7w Ty

n

cp=- Varanee ,  Vasianee = (x-8)"+0-7)" 4 (g %) 4 (g %)" (x5 -7)"

tle-1)4 (6-1)"+(4-1)"
5

Q+36+Ut) Y

7

= (D (13-32

il
=
1
(<)
o

1
)
ARk




f]i Which equation is equivalent to
3[7x—4(x—3)] +1=167

éﬂ. What is the.

———\

x-mtel cept })f the line defined by

2 R Y, ——2t+3y 127 T\
A 9x—-2=16 5[3/4‘/’?9;@‘; +1=16 _ (lé)j
>\\ 2w i1l = é A 6
9x+37=16 '3[ 2x+127] +1 =|
C 17x—2=16 WK +36 +1 = b e —ox +3(0) =12
a- ot C =17
D 17x+13=16 Ww+37 =16 _;/?/».4 —
MAA O ~6 =~
[2() Beth is two years older than Julio, Gerald is ) _— X =t
twice as old as Beth, Debra is twice as old as ) Julio | ) ““ C . 5 Which point Iies on the line represented by the
Gerald. The sum of their ages 13/ 38)H0w old J Youngect = x - equation below?
is Beth? \_/ =y
A 3 (ﬁp( at 'Jué i0 2+X |
. @ 5 Gerald = 2 Beth a(zix)- = H+HX . F‘\lg n . -
\C 6 Debra = 2.6Gerald = 9 (u+ax)= 4 W» A+ A ——2:: (7,/3'7 - s(2)t4(3) =22
D 8 $x+ Y ﬁfvf;: ‘;ﬁ 104+ = 29 v
N/
a - Ly
: ]{;ll Which equation represents the line shown in the ”ﬁ ‘H 4
graph below? T K P
| K= 3 & ) (@3)
Beth= 24y = 213=5 —
7 4 D (6’ 2)
L~l~J\|- f‘ // — > WY = L} '
4 ks T o IIQH What js the perimeter of the figure shown
l -3 Slope () = rising . below, which is not drawn to scale?
( A 2 q y
1 n-41. _ =
¢ g X M b 3 X+13
FXEREEEN 2 3 4 5 6 7
. 3x
-3 \ = M Y ? L 3X+ 2
“ (\g st -2— y 8
N g 2rT 2
7 X+8
P= add up all the ¢ides
A 5x+33
n XA 2 B 240G Fix 4
(A) y=§.x+4 B 5x3433 XHS+3x 3424
C)8x+30  BRT30
4
B y=tg—b D 8x+30
3
3 A [2H What are the solutions for the quadratic
¢ y=§x+4 equation x2 —~8x =97
— o =Y
3 A 3 T
D J’:Ex"6 B 3,-3 X~ -8x-9 )
[ [or & 5
E 1"—9 ’ ~ . (X7 / )
(D/'—l,9 X=q K==
N /




(17_@‘ What are the solutions to the equation - 130
Jena’s Vacatlon
32 4+3=7x2 o
K AX S W -AX3E ' Miles Traveled 800 | 450 | 300 | 960
4\ . ‘
A xe 7+4/85 _1-\85 b \/i’ b Vb e Gallons of Gasoline] 20 | 15 | 10 | x
o, v(»q) e
~7 485 —~7—+/35 “‘(’"T"""”“’ Jena’s car averaged 30 miles per gallon of
B = T ory=—— e gasoline on her trip, What is the value of x in
' Al - \/,‘Eft,:(’ ; gallons of gasoline? total il
N 7+413 7-13 -6 ) ve = otal mitec
(€ ) 5= orxe 6 11Uz 4) 32 = 36 gl
- : 6 ol 30 ¢ 6ooH ‘5‘ 0 43200 t46o
D po=T+VI3 N s ] ' C 55 20 1S 10 4 ? o
6 6 72UN0 [
. - D 80 "‘/)0-" R e € /,,/ (! )
— - 24w 225 Toke 7 los o
;p_:l A rectangle has a diagonal that measures 4 — e — 23\9= (2/"/( )
10 centimeters and a Iength that is 2 s 2 centimeters | ’_7)_'_. 25x? —40xy -+ 16y* = %e\ —130 _U¥50
_longer than the width, What is the width of the 2 960 = _ZpX
“rectangle in centimeters? ' @ (5x—4y) ( GX-Y lj)[C,»L!g) 0 W
widtn 18 chorder than leagth . B (5x+10—-4y) \_ X=32
=\ - R
. ‘ = W=« P C 5(5x—4y)
c s L 2 tw ?’ 2 +¥ D 5(4)‘},)2
O(‘ 4 5} '», (o - :
D ! (2+x)* + x? _ - = : 2 _10x JAx+16
[4yx+x b +X = too ) B x2+8t+16 x2 25
@ What is the simplest form of the / 2 * +Ux 4= 100. C gy i;
) P(uﬂ in the Pg’ Hion ¢ YY) -) -
fraction 51 ¢ } et 2(er i) 1 Lo GHOG=5)  ales) |, qbet) -
¥yx—2 ’ b i : Ivsrt () xt5)
(2 2(36) oM+ =g 2x+4 AT,
- N 2428 =00 (x+4)(x+5) X
A L0 (x4 N B [
T anben T (e ey
K2) = ' ’
B x—1 > (A +4 (x+ 5)
x—2 p 2xt4
¢ x—1 %420
. x42 7 4(x+y);—2x—2y=
5x2y3 110

(B x+1

OF & = Rvw

— 1
. [39% What is the solution to the following system of

equations? . _’/H_«y\_
B vl S
- : 32y3 x H
2x—3y=4 || % 2xX-3Y =Yy
drty=—6 2| wrifsc 8 ¥ e
\.‘H’/ - U C 2 3(x y)
A (5-2) =" T
’ 4(x+)




Which expression 1ep1esents
.(-3 —2i) (-—-5+t) P

A 813 ~9 - :)4. 45 - ’i
B —8—i 9 -3¢
C 2-i '

@ 2-3i

'3§ What are the solutions to the equation
' 1 3
—— o |
1+ " .? —>—~ Same o5 #95 !

(©Oeprfiei-£

5o

B x=3+7;x=3———-—

124

2
2 T2 2
D :czi?—l—-‘/—l—i;x=’.’)———\-/—;—3

_D Two consecutive positive integers have the
prope1 ty that wtegel times twice the
other equals 612, What is the sum of these

two integers?
H 1t \nteger = x

A% ri),r‘ d 1t ger = ¥ 4|
.9 35 ( )
Yoo 9 (XH1) = 612 \
c 37 _ , _‘
¥ (z2x+2) =612
b 39 Gyl Loy 11
£ TR - Qlé
= 2 Z

@ What are the solutions to Vt”lilié/ga;q&étiéqy
‘ x% —6x+5=-87 "y’l’ Y= .»}(«,,-

Jo-hal pn{uﬁuznm = Vo

In 1997 the population of a small town
If the annual rate of increase is about(0.8%,

W lue below expresses the population ;
Lz (ﬁz?::%]atel" r- 0.8% = 0.008

A 5(700)(0.008) ]/ 5(9( 41 )

B 5(700)(1.008) s
¢ (700)(0.008)
(D ) (700)(1.008)°

Which of the following is a simplified form of
the expression logy; 5+ log,; 4 —log,, 2?

A S
- %00 (f +0.008)
= Jog ( )7’%}’7

I

" 9 [ }4 A
@ logZI 10 loggg 7 =5 ((792‘ 0
B logjp21 '
C  logy 7

| Ifx is a real numbel, for what values of x is the

equation logs 5% Sy true?
v/// / - ;,/
@ all values of x 5" =5
B some values of x
C. novalues of x

D impossible to determine

[Mp- Given: £ is the midpoint of CD; LC=/D

XE-6x H3=0 & = B \xtix-20b - ¢
L\i7Zame A 2and3 o
—bT V™ uac \( =13 )(>< ;_m\
20 B 2iand3i | X=1 Q -18)= ha
1 —
OV ¢ 342.3a0d3—243 L e
200 2 P afrt
61\3e-57 (J 3+42iand3-2i ) LQnd Weqe m =18 |
2 =01 / -6 _ 61 e, A-3390) ~ Which of the following statements must be true?
- ) —; = ,Z
138| 1t Iogx y 2 which of the following is true? A LA/D
Ol B racc
| a4
C smy? Cﬁ AC2BD
D x=2y

700)




v

]M@ Students in a class rewrote theorems in their

14y

®

C Prove that two sides and an included angle of | ,

own words, One student wrote the following
statement,

The area of a parallelogram is the
product of any base (b) and any height ().

Which figure shows a counterexample to prove,
the statement false?

-/

B

- ®

|
b 4 {/\ 1"1&&19%’ 4

to eaclh o¥ner!

a
Fo/
a
b/

Which method listed below could no¢ be used to
prove that two triangles are congruent?

A Prove all three sets of corresponding sides 1/~
congruent,

congruent,

one triangle are congruent to two sides and an
included angle of the other triangle.

D Prove that two angles and an included side of |
one triangle are congruent to two angles and
an included side of the other triangle.

145

The diameter of a circle is 12 meters, If
point P is in the same plane as the cixcle,

and is 6 meters from the center of the circle,
which best describes the location of | point P?

Gx) Point P must be on the circle.

B
C

D

Point P must be inside the circle.

Point P may be either outside the circle or
.on the circle.

Point P may be either inside the circle or
on the circle.

Given: pllg;

m || n
ms1="75°

What is mZ2?

A
B
Cc

)

a - 3¢ an\t
Prove all three sets of corresponding angles A s only
v(m Similac AS ) not (m;gmﬂ»"’ As

-

15°
75°
90°
105°

'47 Vik is constructing a spheriéal model of Earth

for his science fair project, His model has a

_ radius of 24 inches, Since roughly 75% of
“Earth’s surface is covered by water, he wanted
to paint 75% of his model blue to illustrate
this fact, Approximately how many square
inches on his model will be painted blue?
Surface Area = 47 )

C) 5426

B 7235
C 43,407
b 57,877

3
Blue area - “;“, .




(5 96
D 192

49

What is the avea, in square centimeter: S,
of rhombus RSTV if RT 16 e and
SV=12 cm?

A 40
B 48

What is the height of this rectangle?

A 1 unit

}} 6 units

What is

C) ViSuits a =)

(e

v/113 units Q < NS;

the approximate value of x in the

triangle below?

-

16[ A 13-foot ladder is leaning against a brick wall
The top of the ladder touches the wall 12 feet (f(

above the ground. The bottom of the ladder is

5 ft from the bottom of the wall, What is the
sine of the angle formed by the ground and the

sin35° ~~0.57
c0s35° ~20.82
tan35° =~ 0.7

0

] : fan 25" 2LF
6 ady
A 3.4 units g .}‘~-§ ¢
( B) 4.2 units r 4

C _ 4.9 units

D 7.3 units

base of theladder? _" ¢ p 7
wall
12 ft
A 2
12
B 2
B i
S h[ ‘
) 2 :
13
p 13
5
_f 6%, E is a diameter of the circle below, and
QS._LPR. ,‘05@;""
p
& i
\4_\“7/ S “;’i)‘ % {)\,} Vf ;L p r;,,.
— —~ los" 4 260"
IfmPQR = 106°, whatis mPS?
0 06 +2x =360°
4 53 —lo,Z“ —{06°
B 74 ' ’ '
. 1x= gU°
106 3 i
O 127 K= 12%°
K = |7




